41

Ul + PV

pUT+ PV"‘)V,

41

f)p "d TdUN d 'aUY (222 )

dx dx |dX. dy UyJJ '

P 4y g5y O 22

Y P ax % dy UyJ ez

31
X
P

u(xy) = nJ{ } (4. )
v(x,y) = |n|M (4.1)

p(x.y) = [nJ {p} (41)
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(X3, ¥3)
uz, V3, pP3
uj, Vi, P1
(X1, y1)
uz
X (X2, ¥2)
41
INj = LNOy) Nay) N ()
Nj(x,y) = ﬂ(a, th,x +¢,y) i=l, 2,3 (42)
A
A= Ax2(y3-Yi)-»- Xi(y2-y 3)+ x3(y, -y 2)] (4.3)
al = X2Ys- X3y2 b,=y2-y3 C,=X3-Xx2
a2=x3y,-xly3 h2=y3-y, c2=X,-X3 (4.4)
ad=x,y2-x2yl b3=y,-y2 C,=X3- X2

mﬂpu§+pvgg do - |N/\dQ+Jn duN  d rduv 10

dx VOXJ +Ady Kdy j
(4.9)

(45)
3 (



(4.9)
theorem) 3
X
MM = {RI+{Rp )
[a] (4.6)
(39
R} = th}%%ﬂ§+%€ yar
{Rp} = -J{N}IEdE]
y

[AIM_ = (Rv}+{ Rp, }

(4.6) [A]

(4.9)
R} = RIN 5 50 Ldr
F) = - n}lE<w

42

(Gauss’s

(410)

(4.10)
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_T]M_u $ Ly u‘b
dx oy )

+ jNj(unx+vny)dr = 0 (4.12)
r
46)  (49)
Aau, = -EA .Uj+f'-jN~dfl (4.13)
AV, = -E Awi+fr-JNi® dn (4.14)
fiu fv @4n  (410)

Sl . (419
Ve 0152 36 9 ki (4.16)

1 bay

Taud
-7 Alwj+t "
i = A3 (4.17)
-E AwwJ+fiv

\ = (4.18)

JNjdQ
Kji = A (4.19)

Ai



Tasi

(4.12)

y 41) (@
[ M xros o)
V: (4.15) 1(4.16) (4.20)
+JEA(Z NjVj dn-jN s(unx+vny)dr
(- (41)
[Kx+Kyl{p} = {Rup{Rv}+{Rb }
K.] = I{%}(ZNjKj Z—I: dQ
oN|( )| aN
k] = {5 (Es)|5)e
remaine 9
R = [z {Gefen
= [z e
{Rb} = —I{N}(unx+vny)dl"
4.2
(46)  (49)

(4.22)
(4.13)

)
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(420)

(421)

(422)

(423)

(424)

(4.25)

(4.26)

(4.27)

(4.14)
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4.2
!
421
(46) (49
Al{} = fruMr, } <)
[A{v} = {R}{R, } (49)
la]
] = kJ + [A,]
[Aconv] = 3
oN, || 6N, oN, || aN,
wa = | Gl B (Bl 5] oo
Lﬁaamn ﬁ = i
ox 2A
=== Faiu
ON, ¢
8y 2A
1 b, c
[Ag] = p(4A2)ﬁ[['Ez]Lbl b, b3J + |Zj]|_cl c, C3J dQ
h2+c,2 bb2+c,c2 bhb3+c,c3
= P4A h2+c2 b3+ Cc (4.28)
Sym b3a+c,a
(46)  (49)
N A P
0 "(|an, ON2 9N ,
- e i 0
Q Q N, [p3



iNjdQ = A T
{R px}
r} - [n}—dQ
} =
2%
42.2
4.2
k.t K ]{p}

47

t 1 P

N, L 2 3dQ pym
N p3
Nb, Nb2 Nb3" p;
N2 1 N22 N2 3 dQ< p
" N31 N32 N33 p3
2AT Fa.
b 3 p3j

P.th2Pa+ 373
Pitb2p2+ 3p3
bp, + 2p2+ 3p3

Pt h2Pa + b3p3 (429)

CPit+CPat+cdpd 1

i 1 (430)

(46  (49) ({Ruj{Rv})

= {RuH{R}HRD } (422
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k] = [kJ + [kJ

EM*HAM: -

b,z +C.2 1 2+C,C2 , 3% 0.03
2+c2  23+cx3  JNK, +N:K2+N:K3)dQ

e g D+ ek
h.+C. 1 2%CCz 1 3%C,Cs
Axb-4 KatKatK3) N+c2 2 3+C203
Sym R+
K +K. +K batCo 12%4CC2 1 3tC,Ca
K] = 00 IA 2+02  23+C3 (4.31)
Sym D+
(4.22)
{RY
5N,
OX 1Q
b> A A
oA KZ- N, U+N2 -+N3 - 1dQ
1b3J
L. A b ,
JAT v2t e 2e
I3
o bi
Ru) drlenB -y (432)

b3
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{Rv}
N \( *
R,}] = J{E}(Nj v,)dQ
c‘ A A A
= % ¢ I(va1+N2V2+N3 Va)dQ
7 B
l A C]. .
IA 3 GJ 1IEVI+v2+v3‘J
(a A A k |
{R/} - VI+ V2+ V3 (433)
Voo Vg
{Rb}
R} = - J{NHunx+vny)dr
|
43 2-3
2-3 L
4.3 {Rb} 1 (4.27)
vpulaluuraImsiva
i = nxf+nyj
Y

=ui+vj

43 {Rb}



Ol_.l"

(unx + vny){

{Rb}

e
L
s

)

]ds

50

- (unx+ vny)%' (4.34)
L
- unx*t vny);
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